- DO NOT OPEN THIS TEST BEOOEKLET UNTIL YOU ARE ASKED TO DO SO

B.C. & 1 ' . 1 75 R ORI Rt G PN R e
T H14/ET Booklet Sy, No 3 02 .
TEST BOOKLET
GEOGRAPHY
PAPER 1T
Time Allowe& j 1% Hoursj Maximum Marks : 100

All questions carry sgual marks.

i

&

-1

0o e

INSTRUCTIONS

Write your Roll Number only in the box provided alongside.
Do not write anything else on the Test Eooklot.

This Test Booklet contains 50 items {questions) Each item comprises four responses {an-
gwers), Choose only one response for each item which you consider the best.

After the candidate has read each item in the Test Booklet and decided which of the given
rasponses is correet or the best, he has to mark the circle containing the letter of the
selected response by blackening it completely with ball point pen as shown below. H.B.
Peneil should not be used in blackening the circle to indicate responses on the answer
sheet. In the following example, response “C" is so marked : '

® ® @ ®

Do the encoding carefully as given in the illustrations. While encoding your particulars
or marking the answers on answer sheet, you should blacken the cirele corresponding to
the choice in full and no part of the circle should he lefi unfilled. You may clearly note
that since the answer sheets are to be scored/evalusied on machine, any violation of the
instructions may result in reduction of your marks for which you would yourself be responsible.
You have to mark all your responses ONLY on the ANSWER SHEET scparately given.
Responses marked on the Test Booklet or in uny paper other than the answer sheot shall
not be examined. Use ball poinl pen for marking responses.

All items carry equal marks. Altempt all items.

Before you proceed to mark responses in the Answer Sheet fill in the pamculnm in the
front portion of the Answer Sheet as per the instructions.

After you have completed the test. hand over the OMR answer-sheet to the Invigiator.:
In casc of any discrepancy found in English and Hindi Version in this paper, the English
Version may be. treated as correct and final.

DO NOT OPEN THIS TEST BOOELET UNTIL YOU ARE ASKED TO DO S0

1 PT.0.



GEOGRAPHY

Paper 11

1
Time Allowed : IZ Hours| (Maximum Marks : 100

Nofe — This paper contains fifty (50) inultiple choice questions, Each question

carries lwo (2) marks, Attempt Al of them.

When the crest of a fold is pushed too far to over-ride portion of thrust fold

is termed as :

{A) Overfold : (B} Recumbent fold

(C) Plunging fold (I Nappe

The moest abundant rock type in the earth’s crust is :

(A) Metamorphic (B) Secondary

(C) Igneous (D) Sedimentary

Which cne of the fellowing is not part of chemical weathering 7
(A) Hydration

(B} Decomposition by organic acids

(C) Frost action

(I3} Oxidation
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4, Which one iz not related to glacial landform 7

(A) Cirque Lake (B) Talus cone
{C) Arcte {D) Ribbon Lakes
5. Repite discontinuity separates :

(A) Outer mantle and inner mantle

{B) Crust and mantle

{C) DNlantle and core

(D} Upper mantle and lower mantle

6. In izostasy “Principle of Buoyancy”™ was the basic idea of :
(A) Pratt (B) Airy
(C) Jdoly (D) Heiskanen

T Which one is #rue about temperate zone 7

(A) Very hot and dry
(B) Moderate temperature with all weather rainfall
(C) .Vcry cold and wet

{D) Hot and humid
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8.  Proportion of the reflected energy is known as :

(A) Long wave radiation (B} Terrestrial radiation
(C) Albedo () Reflection
9. What is the main reéson behind wind movement ?

(4) Earth’s rotation

(B) Pressure gradient

(C) Weather disturbances
(I3} Cyclones

10. When water changes to vapour it is called as :

{A) Condensation | {B) Ewaporation
{C) Transpiration () Precipitétion’l_

11, . Where the Coriolis effeci is zero ?
(A} Eguator (B) Poles
{C) Sub-tropical ' (D) High latitudes
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12,  What is the code for tropical Monsoon climate iienoted in Koppen climatic

elassification ?
(A) Bw (B) ‘Dw
(C) Bm (D} Am

13.  Which one of the following ocean records maximum temperature at surface

water ?
(A) Pacific ocean - (B) Atlantic ocean
(C) Arctic ocean ' (D) Indian ocean

14, In which occan coral deposits are not found ?
(A) Pacific ocean. (B) Atlantic ocean
(C)  Arctic 'ocean (D) Indian ocean

15. Which one of the following ocean currents is not warm current ?
(A) Alaska current (B} East Australia current

(C) Norwegian current (D) California current

TRC-13/14/ET-11 8
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18. Which one of the following biomes is suffered by grazing succession ?

(A) Monsoon (B) Savanna

(C) Equatorial (D) Tundra
17. Who was Mackinder ?

(A) American Geographer

(B) British Geographer

(C) Russian Géographer

(D) - German Geographer
18. Erdkunde was v:ritten by !

- (A) Humboldt (B) Ritter

(C) Kant (D) Al Masudi
19. Who propounded the Rimland theory ?

(A) Mackinder (B) Spykman

(C) Pond (D) Zimmermann
TBC-1V14ET-1I 10
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20.

21.

22.

When was established mternational Geographical Union ?

(A 1211

(C) 1921

(B) 1912

(D) 1922

Which branch of Geography was interest of Thales ?

{A) Historical

(C) DNMathematical

{B) Political

(I}) Social

Who prepared the first world map to scale ?

(A) Anaximender

() Arxistotle

Correctly match the fellowing

Theory
(@) Central place theory
(b} Sector theory
(e} Rank-size Eulz
(d} TPrimate city concept
(@) &) (;:) {d)
a @ QO @ @
(B} (1) (Z) (3) (4)
G 2 @ @O 3

(D) (2) (3) (1) (4)
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24. Where wet point settlements are found ?
{(A) Delta regions (B)' Mountain rég‘ions
{(C) Wet regions - ' (D) Ihry regions

25.  Which one is responsible for temporal and spatial population changes ?
(A) Crude birth rate (B) Crude death rate
(C) Migration .(D) All of these

26. Which one of the following was contributed by Nelson ?
(A) Functional classification of cities
{B} Land use classification of cities
(C) Urban growth theory
(D) None of the above

2k Wh.ich one is the primitive pastoral group of people 7
{A) Kukis. (B) M-asa?'

{C) Eskimos ' (D) Bushman

TBC-1314/ET-11 : 14
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29.

31.

Which of the following tribal group is mainly concentrated in North Zone

of India ?
(A) Nogas, Karbi (B) Ho, Baiga
(C) Toda, Koya (D) Khasa, Tharu

The international boundary between India and Bangladesh is known as :

(A)° Mac Mahon-Line (B) Durand Line

(C) Redcliffe Line (D) Man Hattan Line

Largest row material for newsprint is produced by :

(A) USA (B) Russia

(C) China (D) Canada

Maximum share of Atomic energy out of total national energy production

found in :
(A) China (B) Germany

(C) France (D) USA

TBC-1314/ET-1I 16
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32. Least cost theory of industrial location was propounded by :

(A) Losch (B) Weber

(C) Von Thunen (D) Hoover
33. Ro—Ro complementarity inchldes -

(A) Roadways and Railways

(B) Roadways and Seaways

(C) Railways and Ri.verways

(a3) vRailways and Airways
34. Which one of the following is root industry ?

(A) Garments (B) Electronics

(C) Chemicals (D) Cement
35. Which one of the following is a functional region ?

(A) National Capital Region (B) Monsoon Climatic Region

(C) Port Hinterland Region (D) Tribal Region

TBC-1314/ET-11 18
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36. The basic criterion in the delimitation of a region :
(A) contains degree of intensity of phenomenon
(B) is territory in which a particular phenomenon is observed

(C) is relative uniformity or homogeneity of geographical phenomena over
space

(D) All of the above
37. Which among the following is not characteristics of planning
region 7
(A) Social and cultural cohesiveness
(B) Heterogeneous economic structure
(C) Should have one or more growth point
(D) Common aspirations and approaches
38. Core-periphery model of regional development was given by :
(A) W. Rostow (B) Friedmann

(C) R.P. Mishra (D) Perroux
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3g. Maximum atmospheric pressure in winter is found at :
.(A) Jaisclmer | {B) Leh
{C) Port Blair (1) Gowahati

40. Which one of the followfng is not fzorfectl}- matched 7

() &)

(AY Karewa soil — ‘Salfron
(B} Black soil o o Cotton
(C) Red soil ‘ — Ragi
() Laterite soil ' — Tea.

41. Which one of the following is northernmast ?

{A) Xanchan junga (B} Guwsahati

(C) Delhi (M) Lucknow
42. Greater Himalaya and Lesser Eimalaya-'are divided by :
(A) Maln Boundary Fault (MBT)
(B) Main Central Thrust (MCT)
(0) Himalayan Frontal Fault (I;iFF)

(D) Great Boundary Fault (GBF)
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43.

44,

46.

Which one is nof COTrectly matcnea :

() (b)
(A) Textiles Coimbatore
(B) Automobiles ‘ Grurgaon
(C) Aluminium Kosagit
(D) Locomotive Hyderabad

Which one is correctly matched ?

(a) ' (&)
(A) Sanjay Gandhi National Park — Maharashtra
(B) Dudhwa National Park —  Jharkhand
(C) Neora Valley National Park —  Arunachal Pradesh
(D) Rajeev Gandhi National Park — Telangana

Which one is most populated state ?

(A) Himachal Pradesh (B) Tripura
(C) Meghalaya (D) Goa
Where is the headquarters of Survey of India ?

(A) New Delhi (B) Hyderabad

(C) Kolkata . (D) Dehradun
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43. fTrofafas o 9 wifem =& % 7

(31
(A) & =M
(B) FETER
(C)  TEgEEEH
(D) @ =

44, = H & =5 gafem ¥ .2
(30
(A) dwg T U=E ST
(B) gHa1 Uiy s
(C) =0 wE s Sme
(D) w=E e adE gae

-

HALUTES Ha3T

derTEn

45. Trefafag § =M gaifas Seden 9@ 759 £ 7

A) feurss o
(C) TR

46. =9 #fF e w1 g=Eem FEH F 7

(A) E TEoel
(C) FrerEmar

TBC-13/14ET-1I

25

(B) o
(D) e
(B) TEUER
D) B

P.T.C.



47. What can be shown with the help of dot method ?

(A) Total population of area (B) Land use pattern

(C) Density of population . (D) Population growth

48. Which of the following is an example of space borne remote sensing

platform ?
(A) Aircraft (B) Satellite
(C) Microwave tower (D) Balloon

49. Which of the following is not the part of GIS 7

(A) User (B) Software tools

(C) Database - (D) Photo

50. Which of the following measurements does not divide a set of observations

into equal parts ?

(A) Percentiles (B) Decile

(C) Variance (D) Median
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